EIEH S E T 110 BETE 1 905 1 KBS EQHSRSEE

Hax: BEER: w4 7L
— EFE (1-10EBHM3 2 1124 BEHM A9 £ 869)
HEREEISEL

o RN (£ 13 4)

1.4 4

2. (44

3.(549)

ZHEE (14)

A A
£

o c

Yol P B ABCD % » AB//CD > AB : CD=3:4 B2 & AD #y # E: »

PR GEE =54 BC > Blvos%7 ABFE #eg 6% GEDC #) &85 tb B4 ©




Sl P A A 110 BMEREE 1 SIS 1 REEH LTSI
B SR 4 R T

— - FHEHE (110 BEM3 4 1124 RFHM4 54 86 4)
1.( s - NADE S1AABC %E@@w&_ﬂﬁ%ﬁ@m ?

2/ \1'5
6 D E
45

L,

0. ( DAAIUEE (BISASHPHEE  (C)SSSAHEIEE (D )HASA FHELME

I

3. UMK ABCD HIBHEASIRIE 18 2443 ~ 9 /%) ~ 12 J35) ~ 36 435 > BETUIE
% ABCD HEHLLE 53— (FVUIE T PQRS HTSEATIB £ 7 6 2257 » HIPTEETY PQRS
HEER%/VA? (A)50 (B)60 (C)75 (D)9o-

4 CLHIEESR ABCD HNE - R NI EE DT FHT R AR CRERER T )

SLFUE ABCD AL 2
10

D

C

(A) m\\\\\\\\\\\\w Au\\\\\\\\_\\\\\\

‘ 1

5.( VUIE » AABC d1 s BD =15 /04y » CD =12 434 » HJAABC [HifE S /AABD T

FE 265 ?
m\7m

D
(A)18 (B)12 (C)os8 (D) 15-

U o

—
il




6 )VS5a:b=3:2:b:c=5:4 Hla:b:c=7%
(A)3:2:4 (B)6:5:4 (C)15:10:8 (D)15:10: 12>

7.0 PR E=mPREER 135 S0y 0 Z@B RS R a b oy FS

: ! e g S
P2b=— - ,Etl\  AE= AP e RB R RIEMEE % Do)

? (A)18 mmvﬁ onﬁ (D) 30

8. AlE > 87 aBcD > AD JJEF //GH J/BC » AB =210 B DF : FH :

HC=1:4:2-H|EG =2
A D

,ND.NH
G H
BL Ve
(A)100 (B)110 (C)120 (D)130-

of ) ZAMHEMEET  AQHEE FIBE—IH?  (A)sss (B)AAA (C)
SAS (D) ASS -

10.( )b S~ R>QfE AP kB~ C D EfE AF B Hrb BS ~ CR ~ DQ
BSTRE A AF 0 . AB = BC = CD = DE - 3£ PE =2/ » H| BS + CR
+ DO MRESDARY

A B C D W_ F
ciw (B) 5 ASW (D)3 -

1.0 -~ 2 B AGBEERE > RERE320 8 ohlEHd 1 43
e 4 iR - RIZATHR %ﬁ%&\_\m (A)1205% (B)96

Y

B2 (C)8oE (D)40HE -



12.( VR - WEEE - 27 THEESE TSR - 5 M-SR
EAERY 7

e A
2]

CAYFEZHI (B FEREOL CO)ZSEPHEL (D) T -

13.{ Jo-b-~c BIFEE o b:c=5:6:8>H [(a,b,c) =720 g
=972 (A)20 (B)30 (C)Y40 (D)50-

14.( VB » AABC T » DE//BC » AD =16 » BD=2x» AE =x> CE =18 >

Hllx= 7
A

D E

B C
(A)8 (B)12 (C)rie (D)24-

15.( VB > AE H1 BD fIZEHS C8E oy X AB =4 > AC =55 BC =3 > CD

=15, CE =9 H| DE = ?
A
B

C

D F
(A)Y18 (B)Y12 (C)Y)9 (D)8~

16.(  VEHIAABC 1 DEJ/BC »D~E45TRUFE AB ~ AC > H AD =6 4AFE =
— 1 2 5 6
H] ooy I 1, ‘!Iﬂ J— f— s — 0o
5, DB=1> RI|EC= " C.CN :.iu hovm :81\

17.0 VH -~ L A= A—#EE 1550 TTHEEY) &M~ WA B8 5 -
3 MR 2 AP 5 4% > AU 2 (A)



18.{

19.{

20.{

21.(

22.(

23.(

24,

T2 AL A 2506115 (B)HH 4505 (CHZH 5005t (D)
Pt 300 7

VA 3 HHERURFLEL 2 AL 2 E A E 5 JIALACEL 4 JESUTSolE R AT
5] o ELAIEAEREL ~ 1A% ~ RT3 > SEERVEERTZE 105 2457 0 AR
AANEHEEEZ /AR ? (A)24 (B)36 (C)H40 (D)4s-

)/NABC 81 ADEFW s A= ./D+ /B=,E> /C=,/F+ 3 AB =9 > DE
=6 NABC &5 24 BIADEF l&R%/D7 (A)20 (B)1e (C)
15 (D)12 -

A4 :5:7=6 xy Hix+y 2fEEM? (A)13 (B)16 (C)18
(D)21-

S = PQR =B EMIEE A 31 405 HIHEESMILBM 2 (A)5:
4:3 (B)9:7:4 (C)20:15:12 (D)15:12:7 >«

VOlE » TEAABC Y > 35 DEJ/BC > CD 455 £ ACB > 41 BC —10 > AC

—8 - H| DE =9
A

D 2

B =

17 23 40
(A)4 mwuimﬂ, AOVM mch °

VLTI ABCD~ TURIY EFGH % AB =x+2» BC =2x+2> EF —x-+4 »
FG =2x+5H] AB=7 (A)8 (B)6 (C)Y4 (D)2-

ST, ABCD BITUIET PQRS AL » HL A~ B~ C~ D IVEITESES P~ Q -
R~S~%5 AB : BC: CD: DA=12:9:8:6 PQ Bl RS M| 16 /4 -
HIIPYE PQRS M E& R 2/ ivsr . (A)70 (B) 100 (C) 140
(D)210-




= JEREH-H D £ 13 5
1. HI&E > FEAABCH » LA= SCED> /B= /CDE+35 AD =8> CD =4 CE =

5 Hi BE = ?(44})

( 1 YAABC B1/CEF FA{LIEER 2 (2 47)

(2)%# AB =42 AF =20 CE =28 [l CF = ? {2 4Y})
A

F )

VAR

—16.5 > AIVUEIE DBFE HfEE % /0 2 (5 4))
A

D E

B T C




